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Disclaimer: These sample questions are for self-evaluation purposes only and do not appear on the actual certification exams. 
Answering the sample questions correctly is no guarantee that you will pass the certification exam. The certification exam 
covers a much broader spectrum of topics, so do make sure you have familiarized yourself with all topics listed in the exam 
competency areas before taking the certification exam.  

Questions 

 
1. You have defined a condition with four data access definitions. Each data access condition can have 
four possible values. 
 
What is the minimum number of rows that you must define in the decision table to produce a result?  
 
 
Please choose the correct answer. 

a)  O  1 

b)  O  16 

c)  O  8 

d)  O  4 

 

 
2. You are a freight forwarder using SAP ECC and SAP Transportation Management (SAP TM). 
 
Which of the following configuration steps are necessary to settle transportation charges in SAP ECC?  
 
Note: There are 2 correct answers to this question.  
 

a)  O  Map SAP TM purchasing org. to SAP ECC purchasing org. 
 

b)  O  Map SAP TM charge types to service types. 
 

c)  O  Map SAP TM purchasing org. to internal order/cost center. 
 



d)  O  Map SAP TM charge types to condition types. 

 

 
3. In which documents can you perform cost distribution?  
 
Note: There are 2 correct answers to this question.  
 

a)  O  Freight booking 
 

b)  O  Forwarding settlement document 
 

c)  O  Freight settlement document 
 

d)  O  Forwarding order 

 

 
4. Which documents can you print preview from the freight order?  
 
Note: There are 2 correct answers to this question.  
 

a)  O  Security manifest 
 

b)  O  Road waybill (U.S.) 
 

c)  O  House sea bill of lading 
 

d)  O  Shipping manifest 

 

 
5. In manual planning in the transportation cockpit, you want to prevent freight units consisting of 
products with transportation group "liquid" from being assigned to vehicles with means of transport 
"aircraft".  
 
Which of the following configurations must you use to meet this requirement?  
 
Note: There are 2 correct answers to this question.  
 



a)  O  Capacity selection attributes 
 

b)  O  Conditions 
 

c)  O  Optimizer settings 
 

d)  O  Incompatibility settings 

 

 
6. Which of the following are standard integration scenarios between SAP ECC and SAP Transportation 
Management (SAP TM)?  
 
Note: There are 3 correct answers to this question.  
 

a)  O  SAP ECC shipment to SAP TM freight order 
 

b)  O  SAP ECC stock transfer returns to SAP TM order-based 
transportation requirement 
 

c)  O  SAP TM forwarding settlement document to SAP ECC billing 
document 
 

d)  O  SAP TM forwarding settlement document to SAP ECC purchase 
order 
 

e) O  SAP TM freight order to SAP ECC purchase order 

 

 
7. You use SAP Transportation Management (SAP TM) for transportation planning. 
 
Which SAP ECC objects can represent the planning results from SAP TM?  
 
Note: There are 2 correct answers to this question.  
 

a)  O  Delivery 
 

b)  O  Sales order 
 



c)  O  Shipment 
 

d)  O  Purchase order 

 

 
8. In the freight unit building rule, you have used weight and volume as planning quantities. 
 
Which fields do you have to populate in the vehicle resource to ensure that these quantities are checked 
when you create a freight order?  
 
Note: There are 2 correct answers to this question.  
 

a)  O  Means of Transport 
 

b)  O  Continuous Dimension 
 

c)  O  Unit of Measure 
 

d)  O  Resource Class 

 

 
9. You have an order-based transportation requirement (OTR) with two items. Your freight unit building 
rule is set to consolidate per request. 
 
What happens if you create a delivery for one of the items and transfer it to SAP Transportation 
Management?  
 
 
Please choose the correct answer. 

a)  O  The freight unit is split and assigned to a delivery-based 
transportation requirement for the consumed quantity. 

b)  O  The freight unit is removed from planning and the OTR lifecycle 
status is set to Completed. 

c)  O  The freight unit is reassigned from the OTR to the delivery-based 
transportation requirement. 

d)  O  The freight unit is deleted from the OTR and a new freight unit is 
created for a delivery-based transportation requirement. 

 



 
10. You want to distribute the service responsibilities for different stages to various organizational units. 
 
Which of the following can you use to control this distribution?  
Please choose the correct answer. 

a)  O  Transportation allocation 

b)  O  Incoterm 

c)  O  Organization interaction status 

d)  O  Internal cost 

 
 
 
 
 
 
 

Solutions 

1 a) Correct 2 a) Correct 3 a) Correct 4 a) Incorrect  5 a) Incorrect 

1 b) Incorrect 2 b) Correct 3 b) Incorrect 4 b) Correct 5 b) Correct 

1 c) Incorrect 2 c) Incorrect 3 c) Correct 4 c) Incorrect 5 c) Incorrect 

1 d) Incorrect 2 d) Incorrect 3 d) Incorrect 4 d) Correct 5 d) Correct 

     

     

6 a) Correct  7 a) Correct 8 a) Incorrect 9 a) Correct 10 a) Incorrect 

6 b) Correct  7 b) Incorrect 8 b) Correct 9 b) Incorrect 10 b) Incorrect 

6 c) Correct  7 c) Correct 8 c) Correct 9 c) Incorrect 10 c) Correct 

6 d) Incorrect  7 d) Incorrect 8 d) Incorrect 9 d) Incorrect 10 d) Incorrect 

6 e) Incorrect      
 

 

Want to learn more? Contact SAP for more information.  

 

http://www.sap.com/contactsap/

